Question

Answer

5i—j — 6k

(ii) AB=—-OA+OB=—2i+j—3k+i-j+k=—i—2k
AC=-0A+0C=—2i+j—3k+5i—j—6k=+3i— 9k
AB - AC = |AB||AC| cos 6

AB-AC

|ABJ|AC]

AB| = V12 + 02+ 22 =5

|AC| = V32 + 02+ 9% = v/90

Therefore

so cosf =

(—i — 2k) - (3i — 9k)
V5v/90
(—1x3+0+2x9)
V5v/90

15

V5v/90
= 0.707

cosf =

15
=0=cos ' | ——= ] =45°
()
BA =—-AB=1+2k
BC=-OB+0OC=—i+j—k+5i—j—6k=4i—Tk



BA - BC = [BA||BC|cos ¢
BA - BC
IBA[|BC|

IBA| =|AB| =5

IBC| = V42 + 0% + 72 = /65

Therefore

SO cos ¢ =

(i + 2k) - (4i — 7k)
V565
(Ax1+0+7x2)
V565

—10

V565
= —0.5547

cos ¢

= ¢ = cos (—0.5547) = 123.69°
Therefore v» = 180 — 0 — ¢ = 180 — 45 — 123.69 = 11.3°

(iii)
1
Area of triangle ABC = §||AB| x |ACI| (e.g)
i j k
= % -1 0 -2
3 0 =9
_ 1o -2 ~1 -2
~ 20 3 -9
ok OH
1 -1 -2
B +3 -9
= 9 6
\2< *
5
2



